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26 BEE% 20 | 20 3.3 20 33| ¢75x¢20 | 1 20 1|2 | 1 20 | 1
27 Z#E#fE | 20 | 20 4.3 20 1.0| 20 53| ¢75x¢20 | 1 20 1|2 | 1 20| 2 | 20| 1
28 zik 20 | 20 4.3 20 1.0| 20 53| ¢75x¢20 | 1 20 1|20 | 2 20| 2 | 20| 1 20 | 1 20 | 1
29 BEE% 20 | 20 3.3| 43 20 33| ¢75x¢20 | 1 20 1|2 | 1 20 | 1
30 x—%— | 25 | 25 4.3| 25 3.0| 25 73| ¢T5x¢25 | 1 25 1| 25| 4 25 | 8 | 25 | 1 |25%x13| 1 25 | 2 25 | 2 25 | 2 | 25| 1| 25| 1
31 BEz% 20 | 25 3.3 25 33| ¢75x¢25 | 1 25 1| 25| 1 25 | 1
32 x—%— | 20 | 25 15| 25 2.0 25 35| #100% ¢25 | 1 25 1| 25| 2 25 | 6 | 25 | 1 26x20| 1 | 25 | 1 25 | 1
20 | 1 20 | 2 20| 2 20| 1|2 | 1
33 x—%— | 20 | 20 4.3 20 2.0| 20 6.3] #100x ¢20 | 1 20 1|20 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
34 BEE% 20 | 20 3.3 20 3.3 ¢100% ¢20 | 1 20 1|2 | 1 20 | 1
35 BEZ% 25 | 25 1.0 25 10| ¢75x¢25 | 1 25 1 25 | 1
36 zik 20 | 20 15| 20 1.0| 20 25| ¢75x¢20 | 1 20 1|20 | 2 20| 2 | 20| 1 20 | 1 20 | 1
37 zik 20 | 20 1.5| 20 1.0| 20 25| ¢75x¢20 | 1 20 1|20 | 2 20| 2 | 20| 1 20 | 1 20 | 1
38 zik 20 | 20 15| 20 1.0| 20 25| ¢75x¢20 | 1 20 1|20 | 2 20| 2 | 20| 1 20 | 1 20 | 1
39 x—%— | 20 | 20 15| 20 2.0| 20 35| ¢75x¢20 | 1 20 1|20 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
40 BEE% 20 | 20 1.0 20 10| ¢75%x¢20 | 1 20 1 20 | 1
41 x—%— | 20 | 20 15| 20 2.0| 20 35| ¢75x¢20 | 1 20 1|20 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1




42 z ik 13 | 25 1.5| 25 1.0| 25 25| ¢75x¢25 | 1 25 1| 25| 2 25 | 2 | 25 | 1 25 | 1 25 | 1
43 BEe% 13 | 25 1.0 25 10| ¢75x¢25 | 1 25 1 25 | 1
44 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1|2 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
45 x—%— | 13 | 20 1.5| 20 1.0| 20 25| ¢75x¢20 | 1 20 1 ]2 | 2 20| 6 | 20 | 1 20x13| 1 | 20 | 1 20 | 1
13 1.0| 13 1.0 13 | 1 13 | 2 13| 2 |13 1131
46 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1|2 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
47 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1|20 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
48 BEE% 20 | 20 1.0 20 10| ¢75x¢20 | 1 20 1 20 | 1
49 Z ik 20 | 20 1.5| 20 1.0| 20 25| ¢75x¢20 | 1 20 1|2 | 2 20| 2 | 20| 1 20 | 1 20 | 1
50 BEE% 20 | 20 3.3 20 33| ¢75x¢20 | 1 20 1 ]2 | 1 20 | 1
51 Z ik 20 | 25 1.5| 25 1.0| 25 25| ¢T5x¢25 | 1 25 1| 25| 2 25 | 2 | 25 | 1 25 | 1 25 | 1
52 BEa% 20 | 20 3.3 20 33| ¢75x¢20 | 1 20 1 ]2 | 1 20 | 1
53 x—%— | 20 | 20 43| 20 2.0 20 6.3 ¢75x¢20 | 1 20 1|2 | 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
54 Z ik 20 | 25 43| 25 1.0| 25 53| ¢75x¢25 | 1 25 1| 25| 2 25 | 2 | 25 | 1 25 | 1 25 | 1
55 Z ik 20 | 20 43| 20 1.0| 20 53| ¢75x¢20 | 1 20 1|2 | 2 20| 2 | 20| 1 20 | 1 20 | 1
56 BEE% 20 | 20 3.3 20 33| ¢75x¢20 | 1 20 1 ]2 | 1 20 | 1
57 SV 13 | 30 43| 30 1.0| 30 53| ¢75x¢30 | 1 30 1|3 2 30| 2 |3 1 30 | 1 | 30 | 1
58 Z ik 20 | 20 43| 20 1.0| 20 53| ¢75x¢20 | 1 20 1|2 | 2 20| 2 | 20| 1 20 | 1 20 | 1
59 x—%— | 20 | 20 43| 20 2.0 20 6.3 ¢75x¢20 | 1 20 1| 20| 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
60 Z ik 20 | 20 43| 20 1.0| 20 53| ¢75x¢20 | 1 20 1|2 | 2 20| 2 | 20| 1 20 | 1 20 | 1
61 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1| 20| 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
62 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1| 20| 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
63 Z ik 20 | 20 1.5| 20 1.0| 20 25| ¢75x¢20 | 1 20 1|2 | 2 20| 2 | 20| 1 20 | 1 20 | 1
64 x—%— | 20 | 20 1.5| 20 2.0 20 35| ¢75x¢20 | 1 20 1| 20| 4 20| 8 | 20| 1 20 | 1 20 | 1 20| 2 20| 1|2 | 1
65 BEE% 13 | 25 3.3 25 33| ¢75x¢25 | 1 25 1| 25| 1 25 | 1
£y ) . “" HIVP(E#) HIVP(E) HIVP(£1%) # P Lookie VAT VEEFE | vy b | EIE4ST | TR0 | Fw v T ZEF-2 BEWL | ik | ERSGDR ZE(PVCHY) SVE A=5-124y | RIEKEE | A-5-F vIR
i) HEZE ; o m A& m A& m AREXHEK | @ O | @ O | E% | O | B | O | B% | O | @% | Of |(/@#%| <O | @% | O% | @% | O% | @E% A | B O | E% | OfF | @ | OF | @ | 0 | E%
=t 1775 59.0 236.5 65 65 120 176 65 1 2 35 2 35 2 30 15 15
K EOZRFME—&
HIVP(EES) HIVP(E) HIVP(£1%) # R Laokie VAT OMEFE | v v b | #E4S | TR | Fy v T F—X ZEWyL | ZbkiE | EREMDR|  ZE(PVCHR) SVE F=5-124y | RIEKEE | A-5-F vIR
A& m A& m A& m AREXHEK | @ O | @] O | E% | O | B | O | B% | O% | @% | Of |(/@#%| <O | @% | O% | @% | O% | @E% A | B O | E% | OfF | @ | O | @ | O | E%
HIVPE & 1775 | m 13 1.0| 13 10| ¢75x¢20 | 48 13 | 1 13 | 2 20x13 | 1 13| 2 [13] 1 [13] 1
TVET RF 331 m [ 20 | 1338 20 450 20 | 1788| @75x $25 | 12 20 50 | 20 | 97 20 | 144 20 | 50 | 256%x13| 1 |[25x20| 1 | 20 | 28 20 | 28 20 | 26 | 20 | 13| 20 | 13
EELTER 2106 | m | 25 35.1| 25 11.0 | 25 46.1| ¢75x 430 | 2 25 13 | 25 | 19 25 | 26 | 25 | 13 25 | 7 25 | 7
BER% 22| AT | 30 8.6 | 30 2.0 30 10.6 | ¢100x ¢20 | 2 30 2 13| 3 30 | 43| 2 30 | 2 | 30 | 2
Z B 7| #AT $100%x ¢25 | 1
zik 19| ®FR
SV 2| #R
A—B— 15| ®FR
13| 2
A= — 20| 13
B B 1775 | & 59.0 | % 236.5 5 65 5 65 | & | 120 st | 176 | & | 65 5 2 | | 35| F 2 | 35 5 2 | & | 28| % 14 | % 14
fa | 13 6| T
& o0 a1 @R
&
" 25 3| AT
= &l
I | & 50| AT




T A7 7V N WK E R E
- - i) K AL ER B BT it & 7K 2 "
2 UNBTIE (m/100m) (m) (nt) fis =
3cm 0.078
4cm 0.104
5cm 0.130 2676.10 3.4789
6cm 0.152
7cm 0.174
10cm 0.240
15cm 0.350
19cm 0.438
7 2676.10 3.4789
W 3.48




tBEHE

No. L8 N Tits T &1 i 44 ELER(m) | ARERM) |XEMERE)| Edastm) | =220 8%
1 | 7TIVIRRERER H=2.0 1 2.0 0.196
at 0.196
REE : 2EF7/ B
(EEES L2 NI S W=0.333m H=2.00m t=0.04m HRRIEIMY Y SKERE L T %,
fEie L |W=0.115m H=2.00m t=0.08m

e

L=

1.260 m




